T = s e

P Bl Rl Bl
i T i

I
g

i

sempre staccato

o]
v

v

A
Y

[l

Ll

misterioso
r. h.

1. h.




II

Allegretto

™ T
=
knﬂil
nE TR
===
Jrin Jo.&
/
- 9
. oy == =1
[_.\ ﬁ N
™ ™
uw\ (R
JMs \
il T*
TTe: f blrl
/
TN T
. il o
BER.] \ f.ﬂulll
N
Cre GN

@

b

Ha
AES

1
pe

be

P

-

7

i

mf

=

be

13

m

=

dolce

(APP. 27")



M1

Allegro moderato

T

chiaro

T —

ki

dolce

-

P dolce

ARV

D)}

[ fan WA

ANS V. 3

}

1 |
—

bl
<

]
[l

ho 9

17

=

. ™ N

IrX ]

. N

'_H..
f—

1

3]

I

9]

o2

espr.

[ Fan Y A

L
L

I

iqoﬁ




LINAN

i

2

[NEN

ANS VS
)

3
=""-"'--

[

2 19

oY
l NE:
il

1Y

[ BN
|p ———
$-
e =
el o
@ m_B
- BN
p )
T =
A T T®-
g
Ayl L 1N
40
h#}r !
(Y ®
o 8
ol = H
\IA\ f =T
T
_ 1
J—
] e
=
3 r
m [ Y
) L
= b=
-« R | N
N N
nuamwd nuxmwd
P e, S

[ BTl
k1
il

5 I
Ll
—)

[ LY
S4Ex
/ '
Q@ Ay
I
ad' g TTTe
nﬂﬁ¢
|
“rTR
== =
. -J.\‘ u.ul

[ fan T
ANV ]

1

£

T‘[?PH".I

ba

>

Hosil

hﬁ




